
mathematics and statistics department
introduction to statistics Fall 2010
exercise 6 5 pts

1. If n people are present in a room, what is the probability that no two of them celebrate
their birthday on the same day of the year? How large need to be n so that this
probability is less that 1/2?

2. Delegates from 10 countries, including France, England, Spain, and the United States,
are to be seated in a row. How many different seating arragements are possible if the
French and Spanish delegates are to be seated next to each other, and the English and
U.S delegates are not to be next to each other?
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